



TÜVRheinland GERTIFIED Www.tuv.com ID 9108634911



## NOTICE TO PROCEED

January 03, 2024

Ms. Chona L. Dusaban Authorized Representative Yana Chemodities, Inc. 151 Kaliraya St. Quezon City

## Dear Ms. Dusaban:

Please be informed that notice to proceed is hereby given to **Yana Chemodities**, Inc with regards to the attached P.O. # 654-2024 for the Procurement of Assorted Laboratory Supplies effective upon receipt of this notice.

Upon receipt of this notice, you are responsible for performing the services under the terms and conditions of the Contract and in accordance with the Implementing Schedule.

Please acknowledge receipt and acceptance of this notice by signing both copies in the space provided below. Keep one (1) copy and return the other to the Food and Nutrition Research Institute.

Thank you and our best regards.

Very truly yours,

maiden 9. R. ATTY. LUCIEDEN G. RAZ

Deputy Director/Director III & Officer-in-Charge, Office of the Director

Conforme:

Signature over Printed Name Representative of the Winning Bidder

13, 2121 Janun

## PURCHASE ORDER



Republic of the Philippines

Department of Science and Technology FOOD AND NUTRITION RESEARCH INSTITUTE

General Santos Avenue, Bicutan, Taguig City, Philippines







Appendix 61

Supplier:	YANA CHEMODITIES, INC.	PO.No. 654	654-2024		
	151 Kaliraya St., Quezon City	Date	6-Sep-2024		
TEL#	732-2329	Mode of Procureme	nt: Public Bidding		
TIN:	3584182000	PR# 2024-08-4	2024-08-451 dtd. 08-06-2024		

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery:		c/o FNRI Property Section	Delivery 60 Calendar Days upon receipt of Term: approved PO		s upon receipt of
Date of Delivery:		60 Calendar Days upon receipt of approved PO	Payment		30 Days
Stock/Prop erty No.	Unit	Description	Quantity	Unit Cost	Amount
	bottles	Lot 6 Ethanol, absolute Brand: Ajax Origin: Australia Cat. No. 214, 20bottle x 2.5L	20	1,950.00	39,000.00
	bottles	Ethanol, 96% Brand: Ajax Origin: Australia Cat. No. 1046, 12 bottle x 2.5L	12	1,950.00	23,400.00
	рс	Barometer w/ Certificate of Calibration Brand: Control Origin: USA Cat No. 4198	1	20,550.00	20,550.00
	pcs	Volumetric Flask 100ml w/ Certificate of Calibration Brand: Pyrex Origin: USA Cat. No. 5640	10	3,010.00	30,100.00
	рс	Positive Displacement Pipettor 200 to 1000 microliters Brand: Brand Origin: Germany Cat. No. 702806 Tips, Cat. No. 702854	1	59,250.00	59,250.00
	рс	Positive Displacement Pipettor 1 to 5 milliters Brand: Brand Origin: Germany Cat. No. 702810 Tips, Cat. No. 702858	1	59,250.00	59,250.00
	рс	Single-channel adjustable volume mechanical pipettor 0.5 - 10uL with ISO 17025:2017 Calibration Certificate upon delivery Brand: Brand Origin: Germany Cat. No. 705870	1	17,000.00	17,000.00
	рс	Single-channel adjustable volume mechanical pipettor 10 - 100uL with ISO 17025 Calibration Certificate upon delivery Brand: Brand Origin: Germany Cat. No. 705874	1	17,900.00	17,900.00

pcs	Single-channel adjuctable volume mechanical pipettor 20 - 200uL with ISO 17025:2017 Calibration Certificate upon delivery Brand: Brand Origin: Germany Cat. No. 705878	2	16,900.00	33,800.00
pcs	Single-channel adjustable volume mechanical pipettor 100 - 1000uL with ISO 17025:2017 Calibration Certificate upon delivery Brand: Brand Origin: Germany Cat. No. 705880	4	16,900.00	67,600.00
boxes	Glass slides, 72 pcs/box Brand: China Cat. No. 7101	5	75.00	375.00
рс	Mini cooler rack, for 0.5-2mL microcentrifuge tubes, 12- tube capacity, bench temperature maintained at - 20degC for 60 minutes Brand: Brand Origin: Germany Cat. No. 114935	1	8,750.00	8,750.00
pack	Stomacher / Laboratory Blender Bag, 400 mL, with lateral filter bag, < 250 um filter porosity, 400 mL, with precut indicator and pipet access and built in closure,pack of 500 bags <i>Brand: Interscience</i> Origin: France Cat. No. 111720	1	24,000.00	24,000.00
set	Gram Stain Kit, 4 step, 1 set (CV, Safranin, Decolorizer, Iodine) Brand: Himedia Origin: India Cat. No. K001-1KT	1 .	2,258.00	2,258.00
boxes	Sterile Plastic Petri dishes, 90x 15mm Brand: Phoenix Origin: Canada Cat. No. 360, case of 600	5	6,400.00	32,000.00
рс	Single-channel adjustable volume mechanical pipettor 500 - 5000uL with ISO 17025:2017 Calibration Certificate upon delivery Brand: Brand Origin: Germany Cat. No. 705882	1	16,900.00	16,900.00
boxes	0.45 um pore size, 25mm diameter nylon filter 100 pcs/box Brand: Pall Origin: Germany Cat. No. 66607	3	12,100.00	36,300.00
pcs	Beaker, 10 mL Brand: Pyrex Origin: USA Cat. No. 1000	10	180.00	1,800.00
pcs	Volumetric flask 10 mL with ISO 17025:2017 Calibration Certificate upon delivery Brand: Pyrex Origin: USA Cat. No. 5580	20	2,490.00	49,800.0

				I	1
		Volumetric flask 50 mL with ISO 17025:2017 Calibration Certificate upon delivery Brand: Pyrex Origin: USA	20	2,540.00	50,800.00
		Cat. No. 5580			
	pcs	Volumetric flask 1000 mL with ISO 17025:2017 Calibration Certificate upon delivery Brand: Pyrex	4	3,360.00	13,440.00
	poo	Origin: USA			
		Cat. No. 5580			
		Volumetric flask 25 mL with ISO 17025:2017 Calibration Certificate upon delivery			
	pcs	Brand: Pyrex	24	2,540.00	60,960.00
	P	Origin: USA			
		Cat. No. 5580			
		Volumetric pipette, 50 mL with ISO 17025:2017			
	200	Calibration Certificate upon delivery Brand: Pyrex	12	2,910.00	34,920.00
	pcs	Origin: USA			
		Caf. No. 7100			
		Spin bar, 3/4 inch, 10 pcs per box			
		Brand: Tarsons	3	1,950.00	5,850.00
	boxes	Origin: India		.,	
	]	Cat. No. 4151			
		,			706,003.00
		1	Less 5% VAT		U
			1% EWT	6,303.60	668,181.41
			1	1	
Charged to:	DOH - IC	odine Level of Household Salts for the National Nutri	tion Survey 20	123	-
		4.0			
End-User:	SHERVI	And a			
End-Oser.	Sheyn				
(Total Arr	nount in \	Nords) Seven Hundred Six Thousand The	ree Pesos 🦯		
In cas	se of failu	ure to make the full delivery within the time spec	cified above,	a penalty of one-f	enth(1/10) of one
percent for	or every	day of delay shall be imposed.			
Conforme			Verv tru	ily yours,	
Conforme	đ.	MA	vorj at		0 /
		CHENA L- DULKMAN		ATTY. LUCIED	·Kg
		(Signature over printed name)		Deputy Director	=NG. RAZ
		January 13, 225 (Date)	Offic	er-In-Charge Off	ice of the Director
		(Date)	01110		a 
			1000		1
Fund Clu		<u></u>		the ORS/BURS:	91-2224-09-859 Gleby
Funds Av	/allable:	706,003.10		t: 706,003.W	
		State 1			
BONJOBIE F. CAJANO CPA, CTT 50203060-W Accountant III					
		JAN 0 2 2025			
NET 2 3 70%					
		D C C C C C C C C C C C C C C C C C C C			
		3pm Page 3 of 3			